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SECTION ~1

3 Write short answers to any EIGHT parts. 16
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{i) How do you justity the position of hydrogen at the top of group 1AY
(i)  Why does metallic character inerease from top to botiom in a group of metals?
(i} Write any four uses of tme in industries.
(iv) Write balanced equations for the reactions of A€ with (a) H:50s (b) Na(ll
{v) low does borax serve as i water softening ageat?
{(vi) Cive the names and Turmulie of different acids of boron.
(vil) Write palanced equations for the renction ol orthophosphoric acid with NaOIL
(viii) NO: is ustrong oxidizing agent. Prove the wuth of this statement giving examples.
(ix) Complete and balance the given chemical equations. (a)P+NO -  (b) HNO; + HI =
(x)  What is meant by setting of cement? Discuss the reactions taking place in first 24 hours.
(xiy What are the prospects of paper industry in Pakistan?
(xily Explain the process alincineration of industrial waste,
. Write short unswers to any E1GINL parts. 16
(i) What is the ditlerence between tatomerism and smetamerism’?
(i) What is raney nickel? Write s function,
iy Convert CHL o 11 = COOH
vy Write e of two groups which are called as meta directing group aned twu groups which are called as urtho.
para-directing proups.
(v)  Write mechanism {or sulphonation of benzene.
(vi}  Convert CiHslir 1o et ethiyl lead (TEL).
(vii) Converl AT T TR (] 1) NEH
(viii) Why absolute aleohol cannot be preparcd by fermentation process?
(ix)  Draw structure o F(a) methyl-n-propyl ether (b) methoxy benzenc,
(x)  Wrile structure of (2) alaning (b) valine.
(xi)  What is ninhydrin test?
(xiiy Point out dilTerence hetween protein mid polypeptide.
~ Write shurl answers 1o any SIX parts. i
(i) How are the halogen acids ionized in water?
Giy  What is bleaching powder? Give its Iwo uses.
(i} Deseribe chemical reactions of bicaching powder with (a) H! (b) COn
{iv)  How does the process of galvanizing protect iron from rusting”
(v] Give four uses of acetaldehyde.
{vi) How will you distinguish between ethanai and propanal?
fvii) What are thermoplastic pulymers? Give two examples,
(viil) What are lipids” Give their types,
tis) Define saponitication number and judine nsber.

(S}

[_ SECTION =1l Autempt any THREE questions. Each question carries 08 marks. |
. (a)Give two similaritics and two dissimilarities of hydrogen with elements of group A, 04
(bYWrite any eight uses of lime in industry. 04

. (a)Describe rules for naming the coordination complexes and give one cxample. 04

(b)Describe air potlution briefly. 04

. () What is cracking? Dhscuss its Lwo Lypes. 04

(b)Y Write the classilication ol aromatic hydrocarbuns giving one example of cach. 04

) Deseribe Kolbe's method for the preparation of ethyne with reaction mechanism. {3
{b)Describe Lucas test for the identification of primary, secondary and tertiary aleohols with suitable

chemical reactions., 04

. (a)Dilterentiate between Skl and Sx2 reactions. (4

(b)Write one laboratory and one industrial method for the preparation of acetaldehyde. 04
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